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Topic:- Physics

1) The process which depends on gravity is: /

98 Ui oY o IR AR st 8,

1. Conduction / dlcld

2. Radiation / fafsor

3. Radiation and convection / [afds T 3%? W
4. Convection / Jdg-

Correct Answer :-

« Convection / Q:IHEFT

2) The phenomenon behind the twinkling of the stars is: /

Rl 1 feafearse & fD B gere:

1. Scattering of light / YD IR ] P10

2. Dispersion / ICREL

3. Total internal reflection / P <1 NIGIECARICE]

4. Atmospheric refraction / ATHS o S

Correct Answer :-

« Atmospheric refraction / dATJHS o S

3) A hollow metal sphere of radius 6 cm is charged such that the potential on its surface is 12V.
The potential of the center of the sphere is: /

6 9 BT aTe U WiEa UTfeds M ) 59 aRE A aRa foar wirar @ f 39! gdg
R YT 12v I MA » Fg & fAUa g



1. 6V
2. 12V
3.4V
4. 0V

Correct Answer :-

. 12V

4) Plutonium decays with half-life of 24000 years.If plutonium is stored for 72000 years, then
the fraction of it that remains is: /

WEITaW 24000 T P 3F-3ATY & TIY AU&TAd g1 31 afe wei=raw 72000 auf & g
TUgld forar Sirar 8 ot s9eT o fewan Qv vgdar 8,98 A 8:

1. 1/4
2.1/3
3. 1/8
4.1/2

Correct Answer :-

. 1/8

5) If a progressive wave of wave length ‘A’ produces a standing wave after reflection, the
distance between two nodes is equal to: /

gfe < a¥vieed arell T WITH a3, Ufafdd & 91¢ to Rt R AT axdi g At gl g &
e gt = gt

1. A8
2. M4
3. M2

4.\

Correct Answer :-

.« M2



6) When the number of turns of a solenoid is doubled, then its self-inductance is i
oId U URATRIPT & FHTET P [T SR 8 SiTd! 8, Y 39T TauRT
1. remained the same / JHIH ?6(‘“ %I

2. doubled / QT 81 ST & |

3. decreased by 4 times / 4 [l dd» hH RSIsIE

4. increased by 4 times / 4 1[I dd &g SIId] %I

Correct Answer :-

« increased by 4 times / 4 [l d de SIIdI %I

7) A telescope is formed from objective lens of focal length 60 cm and an eye piece of focal
length 6 cm. It is focused on a distant object in such a way that parallel rays are emerging out of
the eyepiece. If the object subtends an angle of 3° at the objective, then the angular width of
image will be: /

TS gra 60T B Wi aaTs & TUTIT A 3R 63 B! BipT TR It ARSI |
AT 4T 8 | 39 Uh gI® O R 39 a¥e  Pisd fobar oirar ¢ & qurias f6ol At
Mﬁlﬁmﬁmwsomwwmm%amﬁm

1. 30°
2.36°
3.10°
4. 24°

Correct Answer :-

« 30°

8) A rigid body is said to be in mechanical equilibrium, if: /

TS T¢ o™ &1 9if® g+ | g1 weane, afe:

1. linear momentum is constant with time / ¥R T THY & 1Y fRR |
2. both net torque and net force is zero / Pl EIT’IT'ELUf 3R NSO GHI ] gl
3. net force on the rigid body is zero / €@ IBEARED Dol def [ %I

4. net torque is zero / P EI?ITQ:UTQEJ gl



Correct Answer :-

+ both net torque and net force is zero / P ®Ic'1l‘t2I\UIr 3R FNEN aHl R gl

9) Acceleration due to gravity is: /

THdSI-d @Rl 3:
1. Maximum at the equator of the earth /
gt Bt YU 3@ WR b ay

2. Equal to zero at the centre of the earth /

gl o g T Y b SRR

3. Equal to 9.8 m/s? at the surface of the earth and it remains constant throughout the surface /

gt B g W 9.8 H/A? & TRIeR 3R 78 I0f Tadg W FRR W1 7
4. Minimum at the poles of the earth /

gt & yal TR A
Correct Answer :-

« Equal to zero at the centre of the earth /

gl o g T I b SRR

10) A radioactive sample has half life of 69.3 hours. Its mean life is: /

S fSuafhg TR #t 3ufy 69.3 6 31 3T ATe AT 3 MY B:
1. 200 hours / 200 ¢

2. 150 hours / 150 ©¢

3. 50 hours / 50 ©¢

4. 100 hours / 100 T

Correct Answer :-

« 100 hours / 100 ©¢

11) The values of capacitive reactance ‘X’, inductive reactance ‘X;’ and ohmic resistance ‘R’

in an AC circuit are 40, 90 and 12Q respectively. The total impedance of the circuit will be: /



TP AC Uity (|fdbe) # urfear uferarea 'xc’, 9=t gfogma XL’ 3R s yfoRiy 'R’ &
A U 4Q, 9Q 3R 120 &1 Uy (Afdbe) # o ufaaram ghft:

1. 120
2. 10Q
3. 130

4. 150

Correct Answer :-

- 130
12) The capacitance of a parallel plate capacitor does not depend upon the i
TS FHIAR Wie HUTRA BT &rean W R g gt 81

o

1. separation between the plates / @il & oI 3[aTd

2. size of the plates / &Il & THR
3. medium in between the plates / @IC| o §rd HIEH
4. charge of the plates / INGIEAEICE

Correct Answer :-

« charge of the plates / @icl o AT

13) One mole of gas enclosed in a vessel is heated at constant pressure through 1K. Work done
by the gasis : /

TP U H TaY 19 & U HId DI 1K P 1A § fRR 9 W) TR foar 9rar 21 9 gRy
fooar T 1 @

1.1/R]J
2.R/21]
3.1J

4.RJ

Correct Answer :-

« RJ



14) The gravitational force acting on a body,which is moving along the circular path is: /
TS o1 R SRIvd TFareyul 9d, Sl JueR 9y R i 8:
1. Along the radius and towards the centre of the circular path. /
501 & W1 3R JABR UY & HE &I SR I|AT 7 |
2. Always along the radius and away from the centre of the circular path /
g 3T & 1Y 3R JRTBR Y & $Hg 9 R g1 ¢
3. Tangential to the circular path and in the anti clockwise direction /
qHTad fmn H 3R AR Uy IR WY g |
4, Tangential to the circular path and in the clockwise direction /

féromad fe=m 7 $iR JhR Ty IR TR g g |

Correct Answer :-

 Along the radius and towards the centre of the circular path. /

501 & 1Y 3R JABR UY & H3 BT SR I|AT 8

15) What happens in an LCR series circuit, if the potential difference across L, C and R are all
same and equal to 100V? /

%CR et uivuy ¥ a1 g afe L,c Te R § fayaiar 9t o g € 8iR 100V & SRTeR

1. A voltmeter connected across the emf source in the circuit will show only 100V. /

giRuy o faggq dasia o Ad 9 it 3R J1 U dieedic’ had 100V fa@mam|
2. The total potential difference across the circuit is 100N2V. /

gfeoy & it SR ot favaiar 100v2v 1
3. The total potential difference across the circuit is zero. /

gfeay gt 3R & ot favaiaR YRI 3|

4. The total potential difference across the circuit is 300V. /

ooy & it 3R Bot fauaiar 300v B

Correct Answer :-

« A voltmeter connected across the emf source in the circuit will show only 100V. /



URUY § faggq a1 9¢ Fid ¥ JUt 3R JST U dlecHIck dhad 100V fGEmam|

16) Two lenses of focal length 25 cm each, one is convex and other is concave are placed in
contact. Then the effective focal length of the combination is: /

TS & 25 A Bidwd da18 a1d gf ad, o & T Id 3R gORT 3add §; &1 §ud |
@1 14T 2 | PR Tae &t YU i d wdTs §:

1. 50cm/ 50 @'Jﬂ
2.12.5cm / 12.5 94t

3. Infinite / 3Hd
4.0cm/0 ﬁ

Correct Answer :-

« Infinite / 3-d

17) A charge ‘Q’ is kept at the center of a circle of radius ‘r’,another charge ‘q’ is moved along
a circular arc AB of that circle from the point A to the point B such that the length of the arc AB
=] The work done in this process is: /

TS 3N 'Q' Y FAUT ' 18 U g & by T T 14T &, TP 317 AT 'q' B ST AP
JATHR I AB TR fig A A g B RS TR arar a1 8 fr Ay A #l @i =131 a9 59
ufsear § fooar o o1 8:

1. Zero / ][
, (QaD /2= 012)

3 1/(4m= 0)(Qql)/ 12

4. (QQ)/(2m= 0r2)

Correct Answer :-

o Zero/ X[

18) A NPN transistor having AC current gain of 50 is to be used to make an amplifier of power
gain of 300. What will be the voltage gain of the amplifier? /

TP TAUEA gifoRex foraw 50 wearad’ oy &Y gfg et 8, O 300 =i @1y a1en ¢
THAPTIR I & fore Sugad forar oirar 8 | TR wTaR @1 diees g am gRft?



1.6
2.4
3.8

4.5

Correct Answer :-

19) The unit of shearing strain is: /

I Ry F goTs 8:

1. m'1

2. kgm’ Is2

3. kgms’2
4, It has no unit/wmm:ﬁﬁ%

Correct Answer :-

 Ithasno unit/wmm:ﬁﬁ%

20) In Young’s double slit experiment, the fringe width is found to be 0.4 mm. If the whole
apparatus is immersed in water of refractive index 4/3, without disturbing the geometrical
arrangement, then the fringe width will be: /

1 & fgo Y foog v #, b & Aets 0.4 fft urs el 31 afe @ & a1 Susur
mW4/3mwﬁ@mm%,awﬁ?ﬂumaﬁmmﬁmﬁm

1.0.5 mm /0.5 f&#T
2.0.4 mm /0.4 &t
3. 0.045 mm / 0.045 oA

4.0.3 mm /0.3 THHT

Correct Answer :-

« 0.3 mm /0.3 faH



21) A 2m long wire is moving at right angle to its length with a velocity of 100 m/s in a magnetic
field of intensity 3T which is normal to the length of the wire. If the direction of motion is
inclined at an angle of 30° to the magnetic field, then the induced e.m.f. in the wire will be: /

TS 21IeX AaT dR U GaT5 & GHBIU UR diadr 3T & gaoid &3 | 1009/ & a1 H
A ¢ 9 aR 3 daT5 & YA © | afe i @1 fo=m, daata & 9 30° & ST
3Td g, a1 dR A 9fYa $.u9.u%. ghm:

1. 200V
2. 10V

3.300V
4. 100V

Correct Answer :-

« 300V

22) If the radius of curvature and focal length of Plano convex lens is 10 cm and 30 cm
respectively, then the refractive index of the material of the lens will be: /

e @I I A9 BT Iehar BT 3R Bied gt HHRT:10 [T 3R 30 A §, o A9 B
ATRft T Jad-Tie gN:

1.1.33
2. 1.45
3. 1.5

4. 1.66

Correct Answer :-

- 1.33

23) If the amplitude of the undamped progressive wave at a distance ‘r’ from the source is A,
then the amplitude at a distance ‘r/2’ will be: /

gfe A I o+ g3 W IR-Srqufed TITHT T3 BT ST A g1 /2’ g1 TR HTATH §I:
1. A2
2. 2A

3.A



4. A/4

Correct Answer :-

e A

24) Beta-rays emitted by a radioactive material are: /
e saryd arrh gr1 s@fla dier-fav §:

1. Neutral particles / G B

\J

b

2. The electrons orbiting around the nucleus / 1 & AR 3R URBHT B ard 3
3. Charged particles emitted from the nucleus / 1% Mdbaq are SafRid dur

4. Electromagnetic radiations / iacggd T:i}dd’)nlbl fafuor

~

Correct Answer :-

 Charged particles emitted from the nucleus / 1P T e drel SMaferd Hum

25) The difference between molar specific heat of any gas is : /
forst Y T 71 Hiefta fafkie o & = &1 siae e
1.8315J /kg/K

2. 8.315 Cal /mol /K

3.8.315 Cal / kg /K

4.8315J)J/mol/K

Correct Answer :-

e 8315J/mol/K

26) If ‘M’ is mass of a disc and ‘k’ is the radius of gyration then moment of inertia of the disc is
given by: /

gfe ‘M T F&%F &1 g SR <k uRvywvr i § dt f$ve &1 srswaryyf ghm:
1. I=MKk?
2. 1=2/5 Mk?

3. [=Y Mk?



4. 1=2/3 MKk?

Correct Answer :-
. [=MK?

27) Gamma-rays are deflected by: /
raT-faun @1 fagaor giar 8:

1. An electric field but not by a magnetic field / U f?:cggd & g1 dfchd T ﬂdcbnltl & GRI -Tg!

2. Both electric and magnetic field / f&qu 3R 'gid P & Gl
3. A magnetic field but not by an electric field / U DT &F §RI cifd1 Ueb faggd &5 gRI gl
4. Neither by electric field nor by magnetic field / ar i?:qu & GRT 3R T & 151.,GI<>D(\I¢I &3 gRI

Correct Answer :-

« Neither by electric field nor by magnetic field / - ar i?:qu &7 GRT SR A G 151.,GI<>D(\I¢I &3 gRI

28) The back emf induced in a coil when current through it changes from 1 ampere to zero
ampere in one millisecond is 3 volt, then the self-inductance of the coil is: /

TP Hoal A ARG 9% STHTW 3 diee B, 99 sHP oA ara! yared URT e fefiieds 7 1
TrfiR @ g vafter # uivafda gl @, @ deell o1 - RePa @

1. 103H
2.3H
3.3x 103H

4. 1H
Correct Answer :-

« 3x107°H

29) In an N-type semiconductor, donor valence band is: /
TS N-UPR & tfaras &, grar a9 ds &:
1. Close and just below to the conduction band of host crystal /

gRe fobied & T o€ & Fibe 3R 3t 9




2. Close to the valence band of host crystal /
B forted & doig o8 & M

3. Below the valence band of the host crystal /
e fored & delg I8 & il

4. Above the conduction band of the host crystal /

ERe fohied & I §8 B JHW

Correct Answer :-

 Close and just below to the conduction band of host crystal /

B fobied & dre §'g & Rde iR Sl 1

30) If the focal length of a convex lens of refractive index 1.5 is 2 cm, then the focal length of the
lens when immersed in a liquid of refractive index 1.25 will be: /

1.5 Ui 9T b 31 A9 B Blbd ddrs 2 AH 81 &9 DY 1.25 Uad-ie ard Th §a
A Ay $31 R A9 B Bled d9Ts gl

1.2.5cm
2.5cm
3.1cm
4.4 cm

Correct Answer :-

e S5cm

31) If the ratio of frequencies of two simple pendulums are 2:3, then their respective lengths are
in the ratio of: /

gfe S TIYRUI Ugad P Mgfral BT SIUTd 2:3 €, I9 S| Jafd da18 BT SUTd o:
1.V3:42

2.\2:\3

3.4:9

4. 9:4

Correct Answer :-



32) When a magnet is placed in a uniform magnetic field, then it experiences: /

W9 U g9 P! TH T GaP1d &1 § IWT SI1dT 3, A I8 FIDT SJHT BT 8
1. a torque but no net force / Y W@Iﬁ‘ﬁfaﬁé% EREE

2. a net force but no torque / U Y[ex T dfchd DI EIT‘ITW:I@

3. a net force and a torque / U ek ol IR TH El?qu:Uf
4. neither a net force nor a torque / 9 Al Udh & ol IRAE TH WTE[Uf

Correct Answer :-

« atorque but no net force/@dﬂlq\UTal AP QAQW:IgT

33) In an ammeter, 4% of the main current is passing through the galvanometer. If the
resistance of the galvanometer is 72€2, then the resistance of the shunt will be: /

TS THIER T, GBI URT BT 4% Ted-HIex A I oRdl ¢ | afe ira-riex &1 ufariy 720
%,a‘r!zi?:mtrﬁlﬁﬂﬁn:

1.4Q
2.36Q2
3.3Q
4. 12Q

Correct Answer :-

e 3Q

34) A body of mass ‘M’ moving with velocity ‘V’ explodes into two equal parts. If one part
comes to rest and the other part moves with velocity ‘v’, then the value of ‘v’ is: /

A V' WR fAHHE, SSUHTE "M 91T U T gl aRTaR W & fawpifed 8 a1 g1 afe uep
YT fARTH UR SR gRRT YRT & 'v' & A1 Q|1 @ ol 'v' &1 |1 §HI:

1.4V
2.V

3.2V



4.V N2

Correct Answer :-

. 2V

35) Length cannot be measured by: / ?ITSI'Ig G| m GIRT HTUT T8} ST bl %:
1. Angstrom / @Eﬁf

2. Fermi / THI

3. Candela / Fodl

4. Light year / PEAREL

Correct Answer :-

« Candela/ %FIT

36) Two beams of light having intensities ‘I’ and ‘91’ interfere to produce a fringe pattern on a
screen. If the phase difference between the beams is 7/2 at point A and & at point B, then the
difference between the resultant intensities at A and B is: /

T IR <9 1’ Faarsii aTd UHT= & g fHRUTYS TP R TP IUid ATH IUd H1 & g
ATAHI0 T & | FRUTyei F T FArR g A R 2 IR FRGBWRn g, A A MRBW
gt digar & g &1 SR 8:

1. 21
2. 81
3. 6l

4. 41

Correct Answer :-

37) A wire of resistance ‘R’Q is cut into ‘n’ equal parts. These parts are then connected in series
with each other. The equivalent resistance of the combination is: /

HiaRIY "R’ Q 91T TS dR ‘n’ SRIGX YR § HTeT of1a1 8 | F 399 I &) Uh-gak & A1y
Soft ¥ SirST SITdT 8 | WA &1 JAged UfaRiY 8

1. R/nQ



2. nRQ

3. R /n2Q
4. RQ

Correct Answer :-

« RQ

38) With rise in temperature, the Young’s modulus of a material: /
ATUH # gfg & 1Y, TP Uerd &1 4 AIvis:

1. Decreases / Jcdl %I

2. Remains unchanged / 3gRafad Yedl %I

3. Changes erratically / A &1 T Seaar g

4, Increases / dadl %I

Correct Answer :-

o Decreases / Ycdl % I

39) A lift is moving down with acceleration ‘a’. A man in the lift drops a ball inside the lift. The
acceleration of the ball as observed by the man in the lift and a man standing stationery on the
ground are respectively: /

U e @RUT 'a' & 1Y - &1 38T 21 forue A va simeHt fire & 3ier usp e SIS daT 2|
e o aeHt 3R THfiH R fRR WS T snetit gRT WEgH ¢ &7 @Rl HHRT: FHT:

L(g-a)andg/(g-a) T g
2.(g-a)and (g-2)/ (g-2) Td (g—a)
3.aandg/aqag

4.gandg/gUWdg

Correct Answer :-

- (g-a)andg/(g-2a)Tdg

40) The weight of a body which is placed on the earth’s surface is more at: /

il 1 Tag R W TP AP &1 a9+, 39 R 34 giar s:



1. The latitude of 30° / 30° 3{&T
2. The latitude of 60° / 60° &I

3. The equator / ﬂ{qu

4. The poles / E«Fﬂ
Correct Answer :-

+ The poles / E«Fﬂ

41) The work done in stretching a spring of force constant ‘k’ from length I, to 1, is: /
TS 99 fRRIP k* & 914 TP FBET 6 T8 1, F 1, 96 W & @@ s 8-

1. o k (1>~ 1,%)

2.2k, +1))

3.k(1; -1

4.k (L~ 1,?)

Correct Answer :-

. Yok (1%

42) A source of sound and listener are moving towards each other. The listener will hear the
sound with: /

- &1 TS Hid 3R Y1 TH-gaR B 3R T¢ 35 & | Aiar == areft eaf Jom:
1. High frequency and high wavelength / 3= &ﬂq% 3R 3= mﬂf

2. High frequency and low wavelength / 3= 3{@% 3R FHH aTeed

3. Low frequency and low wavelength / H Gﬂ@ﬁf 3R HY Wﬁ‘f‘ﬁ

4. Low frequency and high wavelength / H 3‘|’|§ﬁf 3R & el

Correct Answer :-

« High frequency and low wavelength / 3= Gf@ﬁ[ 3R FHH aTeed

43) Energy required to move a body of mass ‘m’ from an orbit of radius 2R to 3R is: /



'm' SIHT 9Td TP ST B FAAT 2R a1t F&T A AT 3R ATt F&T OF RAART B
¥ fore sawusd Sul 8:

1. GMm/12R?

2. GMm/6R

3. GMm/3R?
4. GMm/SR

Correct Answer :-

o GMm/6R

44) A pump on the ground floor of a building can pump up water to fill a tank of volume 30m3
in 30 minutes. If the tank is 30m above the ground, then the amount of electric power consumed

by the pump is:[take g = 10m/s? also density of water = 1000kg/m3] /

U SART & fAa ad wR fRIa v Uy 30 fiqe # 30 iR SMUaI F Uh SH Bl A &
1T urhl tu B a1 21 afe ¢ i A 30 fiex FW g, 9l U gRT Wud fasiell &1 AT 8

@ AT fF g=10 HeAds? iR ur-t &1 99 = 1000 fFu/ATHeR)
1. 3kw / 3 fadirare
2. 5kW / 5 fovetrare
3. 4kW / 4 fdeirare
4. 2kW / 2 foaitare

Correct Answer :-

. 5kW /5 fhalare

45) The gravitational constant G = 6.67 x 10'11Nm2/kg2. The value of G in the unit cm3/s2/g is: /
WUT RRT® G =6.67 x 10'11Nm2/kg2 %I 3'351'% cm3/s2/g H G HTHE %:

1.6.67x 1077 cm3/s2/g

2.6.67x 107 cm3/sz/g

3.6.67x 108 cm3/52/g

4.6.67x 10711 cm3/sz/g



Correct Answer :-
. 6.67x10°8 cm3/sz/g

46) If By, Bj and B, are the bulk modulus of solid, liquid and gas respectively then, /
afe By, B) 3R B, HHR:B, T 3R T & ST TeATRIAT UM T Teb
ﬁ?‘.ﬂfﬂ %., GIF

1. B¢< B> B,

2. B > By = By

3.Bg> B> B,

4.By> B> By

Correct Answer :-

47) If the work function of lithium is 2.5eV, then the maximum wave length of light
that can cause photoelectric emission in lithium is:
[Planck’s constant h = 6.63 X 10-34Js and ¢ = 3 x 108m/s] /
iffa &7 S Baa 2.5eV 8, Tarer &7 3fEedd alacsd a7 gl o oifiaA
# UFRIAedd 3c8aid &1 HRUT 94 Tahdl p:(Toid TR h = 6.63 x 10-34Js 3R
c = 3 x 1085/3)

1. 500 nm

2. 497 nm

3. 827 nm

4,272 nm

Correct Answer :-

e« 497 nm



In 1s,_ a particle goes from point A to point B, moving along a semicircle ofradius 1m as shown

in the given figure. The magnitude of the average velocity is: /
starfes o # femrar a/=r § fF vk o1 fdg A & fdg B a& 1 dss & 1 #Aiex
B=ar arer Heddcd & A dedrg| tad 3itaa 39 &1 aR&AT &

A

1.2.0 m/s / 2.0 HieX A& g
2.3.14 m/s/ 3.14 HIeAHS

3. Zero / [
4.1.0 m/s/ 1.0 HieR AP S

Correct Answer :-

e 2.0m/s/2.0 HicRAFE

49) If|A|=3 units and [B| = 4 units and |A x B| = 6 units, then the angle between the vectors A and B
is: f
afg |A |=3 5&5 3N |B |=4 5K 3R |A X B|=6 5o, dd gfer A 3R B &
HET 10T

1. 30°

2. 60°

3.90°

4. 45°

Correct Answer :-

« 30°



Which ofthe following extension 'E° verses Load ° L graph obevs Hooke's Law:
fArafaf@d @ & Slear favar E aad 6R L7 3Ry, g & @98 &1 grerd w&ar

B

@ (2) (3) (4)
1. (1)
2. (3)
3. (4)

4. (2)

Correct Answer :-

Topic:- Chemistry

1) 2-methyl benzoic acid on reaction with Br2/Fe, forms the product:/

Br2/Fe & ATY AfHfpar uR 2-fMursa Soliss o, Ay ScuTe 94T 8:

COOH
Br / \‘ CH4
1 o
Br
7N
2. COOH
Br COOoH
CHo



COOH

I\ o,

4, Br

Correct Answer :-

COOH

ar— CHs

2) Identify the most suitable reagent used to distinguish between but-1-yne and but-2-yne. /

TG SUY AFUPHD B UGA DY, (oTHBT TANT $ge-1-3MM3 3R Se-2-3MM5 & did 3faR
1 & fore fFar Smar 81

1. NaNH2

2. H,, Lindlar’s catalyst / H,, SR IARS
3. Bry, CCly
4.0,

Correct Answer :-

. NaNH,

3) Which among the following is an example of a substance which is not an emulsifier? /
frafafed # & $19-91 81 vard &1 1 3a1eRv § o UTe URieRS 51 62

1. Agar-agar / HH&HUTY (3{TR-3{})

2. Gum Arabic / TTH 3Rfa®

3. NaCl

4. Sodium stearate / IFSTT LRINT

Correct Answer :-

« NaCl



4) Which of the following sets contains only homo polymers? /

frufafaa 3§ @ o9 4 d¢ d Sad g9 Tga® 51d o2

1. Perlon, Nylon 6,10, Orlon / U@, AW 6,10, 3@

2. Buna-s, Nylon-6,6 and neoprene / &l-s, CIBNIG! -6,6 Gh?ﬁ'ﬁnﬁ:f

3. Glyptal, Buna-N and polypropylene / ¥clIg¥cl, &J-T-N @Tm

4. PVC, Teflon, Nylon 6 / GIdTEl, <O, ATadi- 6

Correct Answer :-

« PVC, Teflon, Nylon 6 / UTdTE, <G, ATdi 6

5) Ford® configuration of a metal ion, value of CFSE in a high spin complex is: /

ﬁug%m%d-" fa=ara & fiu, v S yasur afery (818 U9 Sivweias) § CFSE &1 AF

| —0.44,
, —164,
5 —0.64A,
4 —0.04,

Correct Answer :-

6) The reaction of alkyl halide with RCOOAg produces: /

RCOOAg & 1Y Uf&pd gargs &1 Sififrar Iud ol &
1. Ester / U¥X

2. Amine / THH

3. Aldehyde / UfcEBIES

4, Ether/_SCQR

Correct Answer :-

o Ester /TI



7) The amino acid that can be detected using phthalein dye test is: /

98 THIAT 3t et uar A Yore Uiequr &1 YRT P TIT S b 8:
1. Aspartic acid /Q?CI'I% 3T
2. Thyrosine / YTORITAA

3. Lysine / algig:l
4, Serine /@ﬂ:f

Correct Answer :-

o Thyrosine / YRRIRHA

8) If the Normality of H,SO, solution is N/10, then its Molarity is expressed as: /

Tfe 1,50, fATaT &) UHH=IET N/10 B, 9 SHS! UTH SU[HdT 39 UPHR ST P1 SlTd! 3:
1. M/20

2.1 M

3. M/5

4. M/10

Correct Answer :-

« M/20

9) Brown ring test is used to confirm the presence of: /

13 gy ydieror (a1 ¢e) &1 WAt g ) SufRufa &1 war @ & fere faan smar 8:

1. Carbonate radical / BTET Holp (\{%d{m’i)

2. Bromide radical / STHISS PNED &%W)

3. Nitrate radical / "IICEE;C Holp (\Q%Obﬂ)

4. Sulphates radical / qehe Holb (?{Irgcb o)

Correct Answer :-

. Nitrate radical / e c JA® (ASH)



10) When KI is added in excess into the solution of HgCl,, a complex is formed.Alkaline

solution of the complex is used in the detection of ammonium ion in qualitative analysis.The
complex is /

W9 KI $t HeCl, & faaaq ¥ siftres A § fireman 5ian 2, 9 U 9od (S rudey) a-d7 3 |
U fa=ATor o SHIfH 3T &1 Udl &+ § JPpd & &R f[Iea=T &1 SuaiT fhar
ST 8| 98 99 d o:

1. Mercury tetraiodopotassium /W@T&T@l@ﬁm

2. Potassium(l)tetraiodomercurate / e Rrm () %@mﬂ@?
3. Potassium tetraiodomercury(ll) /W%@mﬂm (1)

4. Potassium tetraiodomercurate (Il) /th%iﬁrqﬂéa&rrd@ﬂa@‘c’ (1)

Correct Answer :-

« Potassium tetraiodomercurate (I1) /th%iﬁrqﬂéa&rrd@ﬂa@‘c’ (1

11) In which of the following pairs are the 2 species isostructural? /
frafafea 9 & fora g o 2 yenfoar aueReTH® 62

1. CoH, & NO3~

2. [Ni(CN)4]*~ & SnCly

3. XeOF4 & ClO4~

4. CO3%~ & BCl4

Correct Answer :-
. CO3%” & BCl4

12) For which reaction will the unit of rate and rate constant be the same?/

o arfifepar & forg, ov ok aR RIS Y 5315 w0 TRl
1. Second Order / fgig e

2. First Order/ YH Blfc

3. Third Order / Ja1d SIS

4. Zero Order / YA DS



Correct Answer :-

 Zero Order / ][ Pifc

13) Standard Aluminium electrode coupled with Normal Hydrogen electrode gives an EMF of
1.66 volts.The standard electrode potential of Aluminium is: /

AT ETggIoH f[Aqgey (Fadcls) & A1y YR A Togui-an faggay Gaais) 1.66
diee T EMF a1 8 | TegHif~ray &1 aHe faggeu fava &:

1.+1.66 V
2.-1.66 V
3.-0.83 V
4. +0.83V

Correct Answer :-

e -1.66 V

14) What will be the total number of electrons in an atom which can be accommodated in the
orbitals having n+l value equal to 4? /

%mﬂ@ﬁﬁﬁﬁMWmﬁ4$wn+1WM$wﬁmm
ol 2

1. 18
2.20
3.8

4. 10

Correct Answer :-

15) What is the order of a reaction whose rate expression is, Rate=k[A]3/ Z[B]'1 2/

39 3ififerar &} Hife wur 8, PRI &= sifraafad = k(a132[B] 1872
1. ¥ order / 4 BITC
2. Second order / %T‘ﬂ'q Fife



3. First order / [ Pife
4. Third order / ?‘Fﬁﬂ dife

Correct Answer :-

. Vzorder/%m

16) Isotonic solutions have the same J
TARIRY fyerasi & aure g gl
1. molarity / TR

2. molality / T

3. vapour pressure / A qId

4. density / Udcd

Correct Answer :-

+ molarity / TRl

17) Choose the correct order of solubility of group II sulphate salt. /

TYE 11 Ibe aqul &t faeradT &1 98l vH gHT|

1. BaSO4 < SrSO4 <CaSO4< MgSOy4

2. SrSO4 <BaS0Oy4 < CaSO4<MgSOy
3. CaSO4 < SrSO4 < BaSO4 <MgSOy4
4. MgSO,4 < CaSOy4 > SrSO4 < BaSOy4

Correct Answer :-

« BaSO4 < SrSO4 <CaSO4< MgSOy4

18) pi bonded organometallic compounds in their coordination sphere contains: /
3 IUTEHUIS &F H pi Maftrd prd-enfas aiffe! # Iufd g &
1. Both 7 and & bonds / 7t 3TEY 3R & ATEY G

2. Coordinate bonds / B'CIFBWGF[ 3EY



3. Only ¢ bonds / Hdd 6 3HEY
4, Only 7 bonds / Had n ATEY

Correct Answer :-

. Bothnandcbonds/n\’rﬂaﬂﬁcmﬂ?ﬁ:ﬁ

19) Mond’s process is used in the metallurgy of: /

Hi=s UfehaT &1 IuENT FreH & g g & fpar wman @:
1. Calcium / BfeRTH

2. Zinc / TS/

3. Nickel / Fepet

4. Tin /fe&41

Correct Answer :-

. Nickel / Fod

20) There are two series of inner transition elements in the Modern Periodic Table. The
elements in which 5f orbitals are progressively filled are known as: /

MYfe Smad IR A fiaie Aol dedl St g YIS gidl & | acd o TH 5f H&d
SR FY H W 91 &, 3¢ 59 YPR § ST 1 o:

1. Lanthanides / aﬂmsts'
2. Actinides / Ufde188
3. Pnictogens / IBEESE]
4. Chalcogens / CAS SRl

Correct Answer :-

o Actinides / QI%:HQS

21) A Crystal system in which any two axial lengths are equal is: /

o foreed yurrel! forad @1 ot &) srefiy siare SRR gl &:
1. Orthorhombic / fauHcaTe



2. Tetragonal / IESEREL
3. Monoclinic / Yh-dl&f
4. Triclinic / FA-TdTes

Correct Answer :-

« Tetragonal / fearciane

22) Albinism is caused due to the deficiency of the enzyme. /

e @retTam TSITgH $ T S RO G
1. Streptokinase / @:@ﬁﬁm

2. Phenylalanine hydroxylase / Bid Qﬂlr'\'l"l e I$§Tlr-0|\~{-l SR

3. DNA Polymerase / ST gt

4. Tyrosinase / SRR

Correct Answer :-

« Tyrosinase / SRR

23) Which order of arrangement is correctly representing Electron Affinity trend in halogens? /
AT BT HI-TT HH el A sAgeF ATHYUT $1 Ugii HY 8 U J g=ifdr 82
1.I>Br>Cl>F

2.CI>F>Br>1

3.CI>Br>I>F

4. F>CI>Br>1

Correct Answer :-

« CI>F>Br>1

24) Which amongst the followings is an extensive property of the system? /
fFrafafad ¥ 9 $19-91 T & &1 U foart qorent 82
1. Volume / AHTId-

2. Temperature / dTUHIA



3. Refractive index / 3(dq-icd
4, Viscosity / YIAdIl

Correct Answer :-

o Volume / ATIdA

25) Which is NOT true about hydrides of group 15? /
IYE 15 P g13S1381 & IR A $i4-91 faweu g T 22
1. MHj3 is the general molecular form. / MH5; HTHI 3T =0 § |

2. They are basic in nature. /q W T &Rig Eﬁ?f %I
3. They act as strong oxidizing agents. / 3 U HT1HR01 HHb & =0 H B Hd & |
4, Thermal stability decreases down the group. / g fRRdr JHg o i ofF IR gedt % I

Correct Answer :-

. They act as strong oxidizing agents. / 3 TS TRITHRU HHD P ¥Y H BT Hd 5 |

26) Which of the following is a synthetic element? /
frafafed # & $19-91 te d=aifta d@ 82
1. gTh232

2. 42M096

3. 0gCm2%2
4. 55Cs!32

Correct Answer :-

27) Which of the following substances is ferrimagnetic in nature? /

Frafafaa & 9 o9-u1 verd yefa ¥ Bigaea GAames) 82

1. CI'02



2. Fe30y4

3. Fe,O4

4. TiO,

Correct Answer :-

J FG304

28) Which of the following is an example of macro molecular colloidal sol? /
frafafEd 3 @ $9-91 98¢ NMUIfid® Fiaise! Aid T Uh IS6I0 82

1. Phosphorous / BRBRY

2. Arsenic / 3T & (Qi’@’cﬂ)

3. Starch / €T

4. Sulphur / bR

Correct Answer :-

o Starch/ Eﬁf

29) Which of the following solution will have the least boiling point at 1 atm pressure? /

Frafafea ¥ @ o faaaa & 1 argasdiy g W 999 $H YIS gHI?
1. 0.2 M K,SO, solution / 0.2 M K,SO,, faerd

2. 0.2 M KCl solution /0.2 M KCI faea=

3. 0.2 M CgH,0¢ solution / 0.2 M C¢H,0, faeiae
4. 0.2 M MgCl, solution/ 0.2 M MgCl, faera

Correct Answer :-

« 02M C6H1206 solution / 02 M C6H1206 ﬁ?l’q:f

30) Which of the following reactions is possible at the anode? /

MR (B1S) R FFofafad & @ Si-3t sifufpar dva @2

1. Fa2F



5 ¥ 02 +2H7 - H:0
3 2CrP+ TH20 = Crn07 - +14H7

4. Cut+Zn™2 >Cu™l+Zn
Correct Answer :-

2CrP+ TH20 = Crn07 - +14H7

31) Which one of the following statements is TRUE regarding the bonding in dichromate ion? /
e § 9 S19-91 Y9 SEhie 3B | sray & fauy # 98l 82
1. It has 7 equivalent Cr— O bonds and 1 Cr—Cr bond. /
8 7 e Cr— O 3ATEY 3R 1 Cr—Cr Y AT |
2. It has 6 equivalent Cr— O bonds and 1 Cr—O—Cr bond. /
SIH 6 4T Cr— O 3TEY 3R 1 Cr-0-Cr HEY G |
3. It has 8 equivalent Cr— O bonds. /
0 8 e Cr- O JEY B B |

It has 6 equivalent Cr— O bonds and 1Cr=0 /

. 5@ 6 ged Cr— 0 3@e R 1 Cr=0 giar &l

Correct Answer :-

« It has 6 equivalent Cr— O bonds and 1 Cr—O—Cr bond. /
ZIH 6 e Cr— O &Y 3R 1 Cr-0-Cr HEY BT |

32) Which one of the following orbitals does not exist? /
fraffaa & A $19-3 Fere divg T 8 32

1.4d

2.5p

3.7s

4, 3f

Correct Answer :-



33) Chloroprene is the monomer of the polymer ./

TR, Tga®__ SIS (HHER) &
1. Neoprene / fand=

2. Polyisoprene / CISIEIESIFIE

3. Nitrile rubber / IR IRl Xsl}

4. Buna- S / &l- S

Correct Answer :-

« Neoprene / IBEIGI

34) The hormone which is classified as a peptide hormone is: /

A ford UeTss s & wu § aufferd forar wiar 8,98 A= 8
1. Testosterone / CXERCRI

2. Androgen / TUSISH

3. Insulin / $gfe

4. Adrenaline / TgIfeH

Correct Answer :-

« Insulin/ gﬁﬁ‘ﬂ

35) The compound which is expected to be optically inactive is: /

% Qe e yfqur sruie 819 3t swiie &:

1. 2, 3-Dihydroxypropanoic acid / 2, 3-S I$r6 F} \'iucl%inl IO I 3k
2. 2-Bromopentane / 2-SAgeH

3. 2-Bromo-1-chlorobutane / 2-STHI-1 -a?ﬁﬁmﬁ:r

4. 2-Chloro-2-methylpentane / 2-FIRI-2-fHyrEgeded

Correct Answer :-

+ 2-Chloro-2-methylpentane / 2-FIRI-2-fHyrgeded



36) The most suitable ion which catalyses the reaction between I and persulphate ion is
i

wa@auga%rarmvﬁraﬁwwﬁﬁm%iﬂaaﬁ‘maﬁw&am%,
!

1. Co3*

2. Fe’t

3. Mn3*t

4. Sc3t

Correct Answer :-

. Fe3+

37) The age of the most ancient Rocks are estimated by: /

I Ui Tg1 #Y 3 &7 SgH 39 §RT ST STdT 8:
1. Uranium lead method / q?ﬁ?m o fafd

2. Radium silicon method / XSTH Riferap i fafer

3. Potassium argon dating / grefRry i sfém

4. C-14 dating / C — 14 Sfc7

Correct Answer :-

+ Uranium lead method / W o fafd

38) The 3d series of transition elements lie in the period of the periodic table. /

THHUT dedl DI 3d YT 3MTad TR & 3maq § fAfga g1
1. Second/gﬂf[

2. First / UYH
3. Third / TR
4. fourth / A1

Correct Answer :-



« fourth / AT

39) The role of aniline in a froth flotation process is: /

TS I a1 ufshar § efeli 3t Yo gt &:
1. Reducing agent / Tt HHB

2. Wetting agent/ Figd HHD

3. Depressant / HdTHddh

4. Stabilizer / ™ITNHRT (FCTAZOR)

Correct Answer :-

. Stabilizer / ITNHR] (FCIATZOR)

40) The product formed when tert-Butyl methyl ether is reacted with HI at 373K is J

ﬁ-wﬁms‘maﬁwmwm & a1y AfUfehar HA W AT Sare
|

1. 2-Methylpropan-2-ol + Methyl iodide / 2- furga UIo=-2-31d + IEHIEN 31IH\ISI$S |

2. 2-Methylpropene + Methanol / 2- fHrurga oidiE + AYATa

3. tert-Butyl iodide + Methanol / dd1de- SICI8d AISRS + B

4. tert-Butyl alcohol + Methyl iodide / Jc10%- SICT3d UehIgldl + TS STAISISS

Correct Answer :-

« tert-Butyl iodide + Methanol / g1 ICTd AISISS + BT

41) The amount of heat measured for a reaction in a bomb calorimeter correspond to: /

?Wm(ﬁmﬁaﬁm$mmﬂn€maﬁwmwm

1. AS
2. AH
3. AE

4. AG



Correct Answer :-

 AE

42) A reaction occurs spontaneously if: /

warf‘umm@?ﬂ%tr%

TAS > AH, whenboth AH & AS are positive /

TAS = AH, 9Id AH HTAS 1 9cHS &l

1.
TAS = AH, when both AH & AS are positive /
, TAS=AH, S AH 3 AS ST €cA® &l
TAS << AH, when both AH & AS are positive /
, TAS<aH, 9 AH AT AS ET gacHS g1

TAS = AH, when AH is negative & AS are negative /

TAS = AH Sd AH HIT AS 14T HOTcHS &l

Correct Answer :-
TAS > AH, whenboth AH & AS are positive /

TAS > AH, Sd AH HITAS §H1 9=cHd &l

43) In presence of potassium dichromate gives chromate,the change in color is
from /

%ﬁﬁﬁ%&mﬁﬁtaﬁﬁzéﬂ%ﬁﬁm
|

1. Acid , orange to yellow / 3%, AR dtar

2. Acid , yellow to orange / 3{¥c1, PIGEIGIR
3. Alkali , orange to yellow / &‘I’Iﬂq, ARt I il
4. Alkali , yellow to orange / &TRI4, Ui 9§ AR

Correct Answer :-



« Alkali, orange to yellow / &RId, AR & Utell

44) Which one of the following molecules contains no ” bonds? /
Frafafeaa & | f5= supen o ®15 ™ sy g1 7l 82

1. O;

2. S0;

3.CO,

4. NH;

Correct Answer :-

45
) p - particles are emitted by a radioactive element due to: /

g - PUI 9 & SRUTISTATHT I GRT ST fHd A1d :

1. Fusion of protons and neutrons / giert 3R ?Eﬁ CARNEE
2. Disintegration of protons in the nucleus / 1fyes H UierHl &1 fageq
3. Disintegration of neutrons in the nucleus / % 4 qg\ll:ﬁ o1 faee

4. Rearrangement of protons and neutrons in the nucleus / e & el 3R -q&T-ﬁ Edl g aRT

Correct Answer :-

« Disintegration of neutrons in the nucleus / MfYe rl;l\(,i:ll'-l\l %1 fagcH

46) Consider the following reaction and identify the correct reagent "A’:

frrafaf@a sfafhar w Gar & 3k @y 3fieas A& gga= &

(DA

But-2-vne ——»= Butane-2.}-dione
(i) Zn/H,0

1.0,

2. KI\/an4



3.0;

4. HNO;

Correct Answer :-

47) The IUPAC name of the compound is: /
i@ &1 IUPAC ATH

Cl CH,—CH,—CHj,

=

H,C |
1. trans-2-chloro-3-iodopent-2-ene /C\'W—Z—a?ﬁﬁ%—ma?-}g:f
2. cis-2-chloro-3-iodohex-2-ene / R 2-FRY -3-3‘|'ITI?>3I%W -2-§7'T
3. trans-2-chloro-3-iodohex-2-ene / z:'r»sr-z-aénﬁ-3-&nu@%a;r-z-§=[
4. cis-4-chloro-5-iodohex-2-ene / ﬁﬁ—4—ﬂﬁ—5—ﬂﬁ@%ﬂﬂ—2-§?

Correct Answer :-

« trans-2-chloro-3-iodohex-2-ene / T-2-F@RI-3-3HTS R H-2-51

48) When 80 mL of g HCI is mixed with 20 mL of g NaOH solution, then the pH

of the resulting solution is: /

S = HCI & 80 mL @ = NaOH farerer & 20 mL & rer fayemar srmar &, ar
gRomHTasT @eae &1 pH §iar ¢

1.8.1

2.35

3. 1.0

4.4.2

Correct Answer :-



49) Arrangethe following carbocations in order of increasing stability: /

dedl TRdT & &H # Areiad FeE6a (SEEEEs) & caaiedd &
+ +

(I HyC—CH—CH, () (HaC)sC—=CH,

A H,C—CH,—CH, AV “C(CHa)s

1. I<II<IV<I
2. I<I<IV<III
BIV<II<III<I
4 I <I<I<IV

Correct Answer :-

o III<IKI<IV

50) What will be the unit of Kp In the following eqguilibrium?

A=fafaa areer & Kp &1 sae Far ghen?

2INH,(g)

N,@® + 3H,@

1. bar
2. atm

3. bar?

4, atm'1

Correct Answer :-

Topic:- Mathematics

1) Which term of the Geometric Progression 5, 20, 80 ... is 20480 ? /
TuiR 9uft 5, 20, 80 ... HT HIF AT UG 20480 3?2

1.9



2.7
3.6

4.8

Correct Answer :-

2) Equation of the tangent to the circle x2 + y2 =5 at the point (1, -2) is: /
g (1, -2) WIa »2 + y2 = 5 & AT =0 1 FHiH0T 8-
1.x+2y-5=0

2. None of these /gﬁ@ﬁgqﬁ

3.Xx=2y+5=0

4.x-2y-5=0

Correct Answer :-

3) If the equations of the two diameters of a circle are x —y =5 and 2x + y =4 and the radius of
the circle is 5, then the equation of the circle is: /

e TH qO b I AT & FHIBI x-y=53R 2x +y=4 8 IR JUA B AT 5 8, A g PT
THIPHRT §:

) (x—2)" +(v+3)*= 5°

, (x+3)*+(y—2)"= 57
;3 (x+2) +(y—3)"=5°

(x—3)* + (y +2)* = 5°
4.

Correct Answer :-

(x—3)*+(y+2)* = 52

4) If the roots of x> — bx + ¢ = 0 are two consecutive integers, then b%—4c=



Tfe x2 - bx + ¢ = 0 F Y, &Y HHIIA UITH € ot b2 — 4c =
1.0
2.2
3.1

4, -1

Correct Answer :-

5) Distance of the point (4, 2) from the line joining the points (4, 1) and (2, 3) is: /
fagaii (4, 1) 3R (2, 3) P SAre arelt ¥@T A g (4, 2) P g &

1.1

2. V5

L\-.ﬂ| =

i
3, Y
4, V2

Correct Answer :-

6) Six persons are to be seated in a row. The probability that two particular persons sit next to
each other is: /

S: aafed e Ufed W 33 gU B 1 S afeaal & Uah-gax & 97d § 93 g1 &1 Ui g

1
, 6
2
, 3
5
6



1
4.3

Correct Answer :-

7) Differential equation of the family of all straight line passing through the origin is: /

a9 g oA arell gt Hieh Yame & o &1 srapa i g:
1. None ofthese/gzlﬁﬁmqﬁ

dy

V=X
- dx

dv
v=x &
- dx

8) tan"1 + tan"12 + tan"13 =

1.0

|

Ll

T
3. 2
4 T

Correct Answer :-



A committee of two is selected from 2 men and 2 women. The probability that the committee will
have at least one man is: /

3 AT B1 TP HUE BT T & Toul SR 2 iRarsi # A frar srar g1 st A su A o4
TS 3t g Pt IRiwdT 8:

5
6

2
3

4, 2

Correct Answer :-

10) Radius of the circle which touches the x-axis and whose centre is (3, 4) is: /
g B FBear ot x -31ef Y =l Ft 8 ok a1 $5 (3, 4) 7; A= 8

1.3

2.5

3.4
4 N7

Correct Answer :-

11) Let f={(1, 1), (2, 3), (3, 5), (4, 7)} be a function from Z to Z defined by f (x) = ax + b for
some integers a, b. The values of a and b are: /

PO QUMD a, b P fIT £ (x) = ax + b GRTURYUING 2 F 2 96 TS B &l £= {1, 1), (2,3), 3,
5), (4, 7)} HIF SHfOTC| a 3R b BTH &:

l.a=2,b=-1



2.a=2,b=1
3.a=-2,b=1
4.a=-2,b=-1

Correct Answer :-

e a=2,b=-1

12) Let n be a positive integer such that (1+x+x2)"=Ag+ Ay X+ Ay X2 + ..... + Ay, X2", then
the values of Ag+ Ay +..ceennennennn. +A,_qis:/

AT AT fF n T e QUi SHUPR BB (1+x+x2) = Ag +A x+ Ay 2+ .o +
AZHXZ“%,T‘W

Z(3"—An)

Correct Answer :-

Z(3"-An)

13) Corner points of the feasible region determined by the system of linear constraints are (0, 8),
4, 10), (6, 8), (6, 5), (5, 0), and (0, 0). Let Z = 3x — 4y be the objective function. Then maximum of
Z occurs at: /

g aruren @t yumelt gRT Fuiva srasrt &3 & S fag (o, 8), 4, 10), (6, 8), (6, 5), (5,
0), 3R (0, 0) &1 Z = 3x - 4y P! IL, T Ba- UM Aiforg | a9 tf¥idpay z = wr gfead g m:

1. (0, 8)
2. (6, 8)
3. (6, 5)

4. (5, 0)



Correct Answer :-

- (5,0

14) Equation of the line passing through (-4, -5) and perpendicular to the line joining (1, 2) and
(5, 6)is: /

%1, 2) Td (5, 6) DI SIS qTell YT F TIId 3R (-4, -5) A 1B oI ATl QT BT THIBIUT

1.x+y+9=0
2x+ty—-9=0
3.x-y—-9=0
4.x-y+9=0

Correct Answer :-

15) Three-digit numbers are formed using the digits 0, 1, 3, 5, 7. A number is chosen at random
out of these numbers. The probability that this number has the same digits is: /

31 0, 1, 3, 5, 7 BT STANT BIP dH-AB T FTEAT IS STl g1 9 F= # I v &I
refes® U I Al Sl 8 | 1 Ui ferdn g {6 59 e # 90 3@ §:

4.

Correct Answer :-



16) Point on the x-axis which is equidistant from (7, 6) and (-3, 4) is: /
x-31& R fag I (7, 6) 3R (-3, ) A TUF R R 8:

1. (0, -3)

2.(0, 3)

3. (3, 0)

4.(-3,0)

Correct Answer :-

« (3,0

17) A packet of plain biscuits costs Rs. 6 and that of chocolate biscuits costs Rs. 9. A housewife
has Rs. 72 and wants to buy at least three packets of plain biscuits and at least four of chocolate
biscuits. She wants to have maximum number of packets. If x and y represent the number of
plain biscuit packets and chocolate biscuit packets respectively and is formulated as a linear
programming problem, then the objective function and the constraints are : /

A favpe & TP Udhe & a1 6 FUU § 3R T8 Aidbde favdpe & UH Gdbe & g 9 FUT & |
TTEUTt & U 72 ¥UT § 3R 98 HH A FHH di1 W+ foPpe & Ude 3R IR didde & favpe
¥ t¥e wlear ared) 21 98 sftrean U¥e) &) e @fier aredt 81 afg x ok y o,
W fape 3R Tidde fagpe & Udel & T &1 gRIId 8 Ud 34 UH Q&I MUTHA &
U N G foar oIrar 3, 9 Se%T W 3N 914 3

Maximise Z=3x+4v;6x+9v < 72;x =0 v=0/

HEFdH Z=3x+4yv: 6x+ W <T72:x =0y =0
1.

Maximise Z=6x+9y;3x +4v = 72:x =0, v= 0/

, AR Z=6x+ %y 3x+4v<T2:x=0.v =0

Maximise Z=x+v;3x+dv = T2;x =6, v=9%x=0;v=0/
5 HEOFdHZ=x+v:3x+4dv<72:x=6:v=0%x=0:v =0

Maximise Z=x+v;x+9% = 72;x=3;v=4x=0;v=0/
4 HEFdH Z=x+v:6x+9v<T72:x=3v=4x=0.v =0
Correct Answer :-

Maximise Z=x+v;x+9% = 72;x=3;v=4x=0;v=0/
. HEFdH Z=x+v:6x+9v<T72:x=3v=4x=0.v =0



18) Which of the following probabilities P(A) and P(B) are consistently defined? /
fFrufafad & 9 F19-3H wilkieart p (A) 3R p (B) AR aRynfa &t st 82

. P(A)=05:P(B)=04P (AUB) = 0.8

, P(A)=05:P(B)=08:P (AU B) = 0.4
, P(A)=05:P®)=02P (AUB) =038

, P(8)=05:P(B)=07:P (AN B) = 0.6

Correct Answer :-

P(A)=0.5:P(B)=04:P (AU B) = 0.8

19) Sum of the series 23 +43 + 63 + onvemeenveneennnenn, +203 is: /

Jolt @RS 23+ 83+ 63 + e +203 BTN 8:
1. 16200

2. 102600

3. 24200

4. 242000

Correct Answer :-

« 24200

20) In triangle ABC, which of the following relation is NOT true? /

Ay aBc ¥, Fafafaa o @ $i9-ar day 9gt T8 32

Correct Answer :-



21) Objective function of a linear programming problem is: /

TS IGP YR AT T I o &
1. a function to be optimized / Y ¢l 31'\133&1(1 [CRIREIEIEIREY

2. None of these /g:lﬁ ) ﬁ‘s‘ :|_Eﬂ

3. a relation between the variables / T & a1 Udh e
4. a constant / TRIRI®H

Correct Answer :-

» a function to be optimized / Th el Gijqblrad [CRUREICICIY

22) The planes 2x —y +4z=5 and 5x — 2.5y + 10z=6 ./

THAA 2x —y + 4z =5 3R 5x - 2.5y + 102 =6

1. are parallel / HMIAIR %I

2. are perpendicular / dSad %I

passes through (0. 0. 2)/(0. 0. 2) I §1a aoRd 81
3.

passes through (0.0, 2)/(0.0. 2) ¥ g1aR T=Rd &1

4.

Correct Answer :-

o are parallel / JUMIIR %I

23) The angle between the lines 3x +y—5=0and x + 2y + 6 = 0 is: /
IGT3M 3x+y-5=0 3R x +2y + 6= 0 F ST BT &:

1.90°

2. 60°

3.30°

4, 45°



Correct Answer :-
o 45°

24) The coefficient of a%h*c?d’ in (abc + abd + acd + bed )10 is:/
(abe + abd + acd + bed )10 T adb4c9d® PT UM B:
1. 2520
2. 5040
3. 10!
10!

141919]
4 8141919!

Correct Answer :-

e 2520

25) The derivative of log(1+x) w.r.t sin"Ix is: /

sinlx ¥ < A log( 1 + x ) FT AHA g8:

|1+x

1 —x
4. N

Correct Answer :-

W

|1—x
J1+x




26) The total number of permutations of ‘n’ different objects taken ‘r’ at ‘a’ time is: /

‘a’ IHT R v & w9 T gM T I axgefi 'n’ & HUd &1 o TB1 &

. CESTe]
, r'[:!—rjl

Correct Answer :-

27) The points on the curvey = x? - 6x3 +13x2 - 10x + 5, where the tangent is parallel to the line
y = 2x cannot be: /

TP y = x* - 6x3 + 13x% - 10x + 5 TR R forg A 78Y 81 Ipa &, oTeT T=f 3@, Y@y = 2x
& JHIR 3:

1. (0, 5)

2.(1, 3)

3.2, 5)
3 &5
. (3.3)

Correct Answer :-

28) The distance of the plane 2x — 3y + 6z + 14 = 0 from the origin is: /

A ¥ 9HGd 2x — 3y + 62 + 14 = 0 I g &



1.7
2.12
3. 14

4.2

Correct Answer :-

29) The Arithmetic mean of (x-y )2 and (x+y )2 is: /
(x—y)? 3R (x +y)? BT AR ATA &:
1. 2xy

2. Xy
3. %2 _ yz
4. x% + y2

Correct Answer :-

30) The balls are drawn at random with replacement from a box containing 10 black and 8 red
balls. The probability that one of them is black and the other one is red is: /

Tigl B 10 FTe 3R 8 AT Tl AT FTT | UfARITY Gigd arefse Su A g Ear g | |
WIpar & fob 399 | Ue Preil @ 3R g9 a1 :

Correct Answer :-



31) The direction cosines of the normal to the plane 2x + 3y —z =5 are: /

A 2x + 3y — z = 5 ¥ SfUeq &1 ReFp-FHaE- 8:
1. None ofthese/g:lﬁ@faﬂ—sc:l—ﬁﬁ

2.2,3,-1
2 3 -
3 '-.."'E ! '-.."'E ' '-.."'1_
2 3 -1
4. O 5 5

Correct Answer :-

32) The probability that an year chosen at random has 53 Sundays is: /
qref® ¥U | g1 ¢ T 9 A 53 IfqarR g4 &t wiikiear gif:

5

28

=1 =

w
&| @

1| b2

4.

Correct Answer :-

33) The tangent to the curve 3xy2 - 2x2y =1 at (1, 1) meets the curve again at the point: /



(1,1) IR TP 3xy? - 2x2y = 1aﬁw&ﬁmg&mwwﬁgﬁ=§wﬁmﬁ%

1.(2,-3)

-1 -1
I: r,._)
2. 5 20

y (1.3

Correct Answer :-

-1 -1
)

34) The antiderivative of cos 2x is: /
cos 2x DT Yfd3radpas %:

1. -sin 2x +2x + C

2.2sin2x +x+ C

3.sin2x+2+C

Ein 2x

+C

"

4. r

Correct Answer :-

35) The intercepts cut off by the plane 2x +y—z =5 are: /

THAH 2x +y — z = 5 Y PIe T 3id: TS &

5
=, 5, —5
2

=

| b
| =



36) The radius of a cylinder is increasing at the rate of 2cm/sec and its altitude is decreasing at
the rate of 3cm/sec. The rate of change of volume when radius is 3cm and altitude is Scm. /

T 90 &1 341 2 A /ASHS $ X 9 9¢ 8 § SR SuB! SH1s 3 A /AHS $I X A HY
g vEl 21 9 e 3 A g 3fR Sarg 5 A 8 ot 3maa+ | 9edrd Bl R &

T3 5
60T cm”/sec

5 337w cm?/sec

3 277 cm?fsec

4 871 cm-/sec

Correct Answer :-
337 cm?/sec

37) Direction cosines of the x-axis are: /
x-31&l Pt fep-HraE— &

1.1,0,0
2.1,0,1
3.1, 1,1
1

0. %,
4, V¥

<
ra| | =

Correct Answer :-



A diet is to contain 80 units of vitamin A and 100 units of minerals. Two food F; and F, are
available. Food F costs Rs. 4 per unit and food F, costs Rs. 6 per unit. One unit of food Fy
contains 3 units of vitamin A and 4 units of minerals. One unit of food F; contains 6 units of

vitamin A and 3 units of minerals. The minimum cost for diet that consists of mixtures of these
foods and also meets the minimal nutritional requirements is: /

TS TR # AT A B 80 SHTS 3N AT Y 100 IHTSTT 2 1 S HISH Fy 3R Fa
IUARI 1 YIS F P P 4 FUT UfA SHTE 3R HISH Fp I PIAC 6 FUT Ufd SPTS
YIS Fy B TP P13 A fAeTRA A B 3 5HT 3R R $1 4 THT1S 8 | HISH F B TP

SPTS # AT A Pt 6 SBTS 3R AR F1 3 3h1E il 21 I 3MER F T F=7aH anTa
gﬁhﬁ,ﬁlﬁgﬁtﬁﬂqmﬁrm@maﬁvwﬁwm‘eﬁwaﬁmﬁaﬁaﬁw

1. Rs. 100
2.Rs. 115
3.Rs. 104
4. Rs. 90

Correct Answer :-

« Rs. 104

39) A matrix of m columns and n rows is called a matrix of ./

m WU SR n iR AR TH AMAE P T 3Tg HaT Al 2
1. Ordern x m /@I nxm

2. Degreean/%"ﬂmxn

3.Classn xm/ P& nx m

4, Classm xn/P&HTmxn

Correct Answer :-

. OrdernXm/ﬁﬁnxm

40) Giventhatfl(x)>gl(x)forallrealx. and f(0)=g(0). then f(x)
< g ( x) for all x belonging to: /

fear 77 § ol avafas x & v f(x) > g(x). 3R£(0) =
s()garasfr x & Bvf(x)<gi(x) B & 995 &




(0, o0)
(-00,0)

(-00.00)

4 (2. )

Correct Answer :-

(-c0.0)

41) If the equation (4a — 3) x2+ ay? + 6x -2y + 12 = 0 represents a circle, then its centre is:

/

gfe BT (4a — 3) x2 + ay? + 6x -2y + 12 = 0 U g B! YGRId Hd1 § ol HPT % &
1.(3,-1)

2.(3,1)

3.(-3,-1)

4.(-3,1)

Correct Answer :-

42) 1f the 6th term of an Arithmetic Progression is 216 and 5" term of a Geometric
Progression is 1536, both having the first term as 6, then find the ratio of the sum of first 7

terms of the Geometric Progression to the 7th term of the Arithmetic Progression. /

afe T FHTR A0 BT 671 Ug 216 § 3R U UiRR doft 31 5% ug 1536 &, &Il &I
UgT UT 6 €, 99 U A F Ugd 7 UG & AN & W1y qHI=a Aot ¥ 79 ug 1 SuE

Td B
1. 146
2. 142

3. 127

4. 139

Correct Answer :-



43) A family has 2 children. Find the probability that both the children are girls if it is known
that at least one of them is a girl? /

TS URAR & 2 Ha & | WG 91d &3 % gl Sa- asfeai § afi g gra t fr o @
U A U TS a5l 22

1, 3

e | L

L | b2

4,

Correct Answer :-

44) Area of the triangle formed by the lines joining the vertex of the parabola X2 =-36y to
the ends of the latus rectum is: /

deq ¥ H & RRT R Raad X2 =-36y & 29l &1 Sis+ ardl ¥@rsi & gr1 Hftd Ay
$T &5hd 8:

1. 324 sq.units / 324 AT BT
2. None/ﬁﬁﬁaﬁgqﬁ

3. 162 sq.units / 162 anET:FI_s:
4. 81 sq.units / 81 ?3|Tf3$|_5c

Correct Answer :-

. 162 sq.units / 162 97 3HTS

45) The conjugate of the complex number (2—-{)+ (2+6i)—(6-31)is: /

Sfed BN (2-1)+(2+61)—(6—31) P HLFH3:



1.‘
2+81q
2-81

3.

9 _

4, 2 81

46) The optimal value of the objective function is attained ./
e Bo HT §TAH 9 T g1 31
1. on y-axis / y-3& IR
2. on x-axis / x-3{& W
3. at the points which are corner points of the feasible region /
3 foigai iR T gTTa & & T e |, R
4. at the origin / W R
Correct Answer :-
« at the points which are corner points of the feasible region /
3 fagaii W o YT & & P Bl §, W

47 3 = 3 3
) If 6 is the angle between two vectors @ and b , then a. b = 0 only

when: /
g draeiadiR b F fw o v FUTE, dF a.b=0
Fad dsf gew & I«



Correct Answer :-

<8 <

[*RIE]

48) =«
j‘ (sin 2x) tan" ! (sinx)dx =
0

-1

td | A

Ti1
2
T
2

Correct Answer :-

T
——1
. 2
49) 1 :
Evaluate the determinant 52 22.1"
5. 5
_103
AR | 2 %, | & Hedidhd &l
5 5
7
1. 5
2
2 5
3
3. 5
7
5



Correct Answer :-

50) If sinf + cosf = 1 _ then the value of sin2& is: /

gfe sinf + cosf = 1% dr sin 26 EFI'EFFIF{%:

1.1

3.0

Correct Answer :-

1 . . . . y -
51) Solution of the differential equation dy iy

dx  1+=x®

N oz
el FHERIT 2= FT 5 &

y-ox _

1+ yx

log|1+ y?| -log|l +x¥|=c

sin"ly +sin"lx=c

log|ll+ y*|=x—-x+c

Correct Answer :-

y¥ox _
1+ yvx

52) [logx dx =

1.x(logx—1)+c



2.x(logx+1)+c

3.xlogx+c

-+c
4.

Correct Answer :-

53) sin2x
: X<
Letf(x)= x

ax + b, b |
Iflim, o f ( X ) exists, then: /

sin2x % 2
mfrrﬁﬁ’rﬁrtrﬁ;f(x)z{ x
ax + b, % 2 )

afg lim, ., f (x) 3féaea # ¢, an

acR:. b=

B3|

aeR: b=2

4,

) % — 2T
If llmx_}g ( = ): 192 then the valueof n € Nis: /
x

n_ 5n

, )= 192.@r ne Na&r A &




4. 8

Correct Answer :-

55) Evaluate/ J-ch-llichrl FL

sin_l(singj:
T
. 6
b
, 5
T
, 3
b
. 2

Correct Answer :-

fzd_x _
0 1++cotx

B2 H

W=

4

Correct Answer :-



57) The co-ordinates of the point for maximum value of Z=x+ Ty
subjectto x+Tv < 8:x—-v<4:x=0;y=0i1s /

x+Ty<8:x-yv<4:x=0;y=0 R AT HF Z=x+7v &
Hitkan A & fov Wdns &g &

1. (0, 0)

2.(4,0)

3.(6,2)

58) Find the value of p for which the vectorsa = 21+ 3] — k and b =
41 + 6] + pk are perpendicular. /

p &I dg AT AT @ Toiad 6T TCRr a =21+ 3] —
k3 b = 47 + 6] + pk waad B

1. 11

2.18

3.26

4. -1

Correct Answer :-

. 26

59) If ct, f are the roots of the equation x* + 2x + 2 =0, then the value of &® + aff + % is:/

e o, f. THGROT x2 +2x+2=0%& He & dal a® + af + f* FT A &
1.-2

2.-6



3.2

4. 6

Correct Answer :-

60) Solution of the differential equation (x + 2v7) ?= vis: f
X
IHadhd THEETOT (x+2y3)%=}'fﬁl' 5ol B

1.x+ y2 =cy
2.x=y3 +

- y Tcy
3.Xx= y3 +c
4.x= y2 +c

Correct Answer :-

61)
The sum of the infinite series 9 +§+§+§+ ............ is: f
i e (AR 0+ P+ Tk 1 2 &
1.e2-1
2. 11e-6
3. 10e
4. 11e

Correct Answer :-

L4 116'6
|f P A AL PI: ! N I T H]]d P A' ] B e ; t]] 21l P ﬂ E ]'S f

B ol B b, 1R :
afe PA)=_".P®)= llBﬂTP(AUB] = 17 TP (A/B):



e LA e

L] B

Correct Answer :-

63) The probability that a student is not a classical singer is Va Among five students if four are
selected, find the probability that all four are classical singers. /

U ©F & ARET F F gl H uifldar Y4 g1 o onl F ¥ 9t 9R &1 99
T Srar .t T3 IR o S B, sEdT wiidear g el

81
| 256

Correct Answer :-

81
. 256
64) E=d .
For anv complex number z, | —— | = 2 represents a:/

Z+3

Waﬂﬁamﬁﬁmz =2 yefa axar &



1. Parabola / U3dddg

2. None of these /3'_'|ﬁ ) ﬁ’sﬁ :l—&p[

3. Circle / ded
4. Straight line / et ¥

Correct Answer :-

+ Circle / dad

65)
zf(x}—Effzx}+f(4x}=

2

Let fl (X ) be continuous at x=0and fl (0 ) =4, then limx_,z
s

Ef(x}—Ef(Ex}+f(4x}=

2

aa o Fx=03RA(0)=4 wi(x) TR & g« lim,_,,

x
1. 11

2. None of these /szlﬁa ﬁ's‘ '_‘@3[
3.12

4.2

Correct Answer :-

66) 1
f eX—1 dx =
1. None of these/ ﬁﬁﬁ?ﬁ_ﬁcﬁ

logle® — 1|+ C
2.

log|l-e ™|+ C
3.

e*—x+C
4,

Correct Answer :-

log|l-e ™|+ C



67) [ e*(cotx — cosec®x)dx=
e¥(tanx —cotx)+ ¢
e*cosec’x+c
e*(logsinx +cotx)+c
e*cotx+c

Correct Answer :-

e¥cotx +c

68 , ] . , _ z_.2 ,
) Solution of the differential equation :—‘; = }"x_: . given that w =1
when x=11s: /
. R -
mm‘-ﬁmm:—;=% & Bl A &, e AT g y =
1 Fad x =18
xP+yvi=2x
1.
x4+ yt=x
2.
x*+yi=2
3.
2 2 2 =
4 x +y° +

69) Solution of the equation tan589tan3d = 1is:/

THIFIOT tan56tan3f = 1 FH 54 b

1 nT.neEZ



n

?=HEZ
2.

5 (n+1)> . neZ
=2 I
. g (J_n+1)16=nEZ

Correct Answer :-

9=(2n+1)%=n52

70) Ifm.n are the order and degree of the differential equation

z_ .
x‘(d—} )3+}'(:—i]+}r4=ﬂ=thenm+n=

aft m o, s TR (L P4y (Z)+yt=0 &
ﬁﬁaﬂ'{ %?ﬁ'%‘ dim+n=

1.7

2.5

3.4

4.6

Correct Answer :-

e 5
71) 2 3
! ; ] 1+a 1+a 1+a ]
Coefficient of a® in the series 3 4 & zl} 4t 31} = .
* 1t . (1ta)” , (12a)’ . 1
spEen (¥R — = e 't IO &
(=
1. T
1
2 1l
=



e—1

4, ™

Correct Answer :-

72) The vector equation of a plane which is at a distance of Tunits from the origin and which 1s
normal to the vector 3{ + 5§ — 6k is: /

UF TAGA H e THEOT AF Ad § 7 5H5 H g W & 3R |
3i+5f — 6k & ¥fAET &

7 (3i+ 55— 6k) = 74/70
1.

F(3i+55—6k) =7
2.

7.( 31+ 57+ 6k) = 7470
3.

r(i+j—k) =7
4.

Correct Answer :-
7. (3t + 5f— 6k) = 74/70

73) Let the vectors @ and b be such that |a| =§ and |E | =5, then
G X b is a unit vector if the angle between a and bis: /
AT oot T afcer a3k b s usR & T
1d|=2 3R |b|=5§.d9 dx b vH S TR & AR 4
wd 5 & & & Fr

™A



b | A

4

Correct Answer :-

74) J-sin (tan™ 1x)
PRt

cos (1+x*) +¢
, Tcos (tan™1x) +c

sin (1+x%)+ ¢
3.

tan"lx +¢
4,

Correct Answer :-
—cos (tan " x) +c

—*

75) Ifd and b are anv two vectors, then [&. E]z + (c}: ¥ b]z =/

afe a3 b or @feer §, @9 (d.b)2+(@ax b)?=
1.1

21a)? b
, 2lal*]

al? E‘
, lal’ b

la|” + |b]*
4,

Correct Answer :-

212012
lal”| b



77)  What is the value of sin~!(s5in80°)? /
sin™! (sin80°) &T HTH FT 57

1. 100°
2. 120°
3.105°
4, 110°

Correct Answer :-

78) —4
Iftan A = — and A lies in the second quadrant, then the value of tan 5 15:/

aﬁtmﬂ=_§ g 3R A.qEX agaﬁarﬁm%a’rtmga:rmm%:

1.2



3.
-2
3
4.

e 2
79) a—b c+d 5 —4
If|a + 3¢ d 2b —[4 —?] finda b, c d7/
a+4d b—rc 5

a—b c+d
a+3c d—2b
a+4d b—r«¢

afe

I —?]%H’rab::,dﬁﬁaﬁl

1.a=8,b=-2,c=-3d=-1
2.a=7,b=2,c=-1d=-3
3.a=6,b=-3,c=3d=-2
4,a=9,b=2,c=3d=-1
Correct Answer :-

e a=7,b=2,c=-1d=-3

80) Ifaline makes angles @ , [,y with the x-axis, v-axis, z-axis
respectively, then cos’a + cos®f + cos®y = /

gfe ve [@, x -3747. v-387. z- 3787 & 41T AT a B,y
FHIUT S1aT § df cos?a + cos?f + cos’y =

1.3
2.0
3.1

4, -1

Correct Answer :-



81) The value of cot(495%) + cosec(—585%) —sec (- 4057} is: /
cot(495°) + cosec(—585°) - sec (- 405°) & AT b:

1+2y2
4. A

Correct Answer :-

. -1
82) IfH is the Harmonic mean between P and Q. then the value afg + gis‘.
aﬁH=P3ﬂTQ$aﬁﬁwwmﬁéﬁ§+gmmﬁ:
1.2
P+Q
2. PQ
PQ
;3 PT@Q
P+Q
4 2PQ

Correct Answer :-

: : : : dy ;.
83) Solution of the differential equation x d—} =y-xtanZis: /
g X

Mol FHHTOT x%=y—man§ & gl B
1. None ofthese/s_"lﬁﬁﬁg:lﬁ

ycos‘l=c
4

xsinf=c
&£

cas—=0C



Correct Answer :-

xsint=c
X

84)
l—-coscx i
Given f(x)=————whenx+ 0 Elldfli[:])=£=iff(}{)is continuous at x = 0, then c equals to: /
% sinx

1l—coscx

fear T ¢ & IS —— od x = 03K f(U)=§=€I‘%x=D ] f(x) TRaT &, dg ¢

SHoh SE] B

1.0

-+ I+
[N

Bd | =

-+
=

4.

Correct Answer :-

+1

85) Ifsin A =§ and sec A=; . the quadrant in which A liesis: /
are sinA=_?33ﬂ'{secA=%Fﬂ' dB ﬂﬁiﬂ'&T o aa A 3TUam:

1. I Quadrant /1 EI@H&ZT

2. II Quadrant / II ﬂﬁtﬁQT

3. I Quadrant / 11 TR

4. IV Quadrant/ IV aﬂq&ﬂ

Correct Answer :-

IV Quadrant/ IV aﬂ'ﬁlﬁﬂ



L log | x™+1|+c

5 log | x(x" +1)|+¢c

log | x7|+ ¢
3.

1 1 7

— 10 TG
4. 7 g xT +1
Correct Answer :-

op |-= J+¢
. OF g x7T +1

87) If7.j.k are the usual three mutually perpendicular unit vectors,
then the valueof T(J X k)+J (I X k)+k. (1 x j)is: [

afe 7.7,k O AT WER dddd sas TieEr B, af i
(7 X E)+7 (I x k)+k (I % J)&r AT &

1.3

2.0

3.1

4, -1

Correct Answer :-

88)
Ifthe vectord = X1 + 2j+ EE and f_; =2i+yj+ E are equal, then the value of x+v+zis: [/

g AR d=xi+2j+zk3iR b=2i+yj+k aA= & ag x+y+z ¥ A &
1.3
2.5

3.2

4. 1

Correct Answer :-



89) The constraints x +2v < 12; 2x+ vy <12; x+ %}F
0; v = 0 defines on: /
@ x+2y<12; 2x+y <125 x+ - y=5; x

0 fowst ax aRsfda g &
1. unbounded feasible space / URES I R
2. bounded feasible space / TREG I R
3. both bounded and unbounded feasible space / TREG g 3R sraRkag T R aHl
4. none of these / E"Tﬁf 1?[ ﬁ’sﬁ :1%3[

Correct Answer :-

+ bounded feasible space / BIRCre JIITd R

I
L
b
I

4
=
s
4

90) 1j sin{ x+a )+sin{ a—x )—2 sina -
M0 x sinx a

1.-2sina

2.-sin a

3.2sina

4.sin a

Correct Answer :-

= o 3
4x° - — such that £(2) =0, then f (x) is: /
X



3. - Ex® 3120

"5 1 +129
x Bttt e LT b dad
xt 8

4.

Correct Answer :-

., 1, 129
x ol o e
. % 8
92) dx 2+3x dy
— -1 a1 -1 e :
Ify = tan (l+5x2) tan (3—2x):thend:{ equals to: [/
2+ 3x dy
el 1 —‘taIl']. Sl W 0
iy ( 1+5x2 ) ( 3—2xl‘_—|E1r dx e
1.0
2
1+ 4x?
5
3. 1+ 5x-
5
1+ 25x?

Correct Answer :-

93) The general solution of the equation tan’4 + cot?4A=21is:/
THEIOT tand + cot?Ad =2 & AHT T b:

=" HEY
4

S=(2n—1)§=nEZ



@=nmit-.,nel

| H

4.

Correct Answer :-

) The general solution of the differential equation ydx;—_“!y =0is: /
dhe THHTOT @= 0 =T THTT 5 &

l.y=cx

2.Xy=¢

-
=

X

c

-

3.

(]

=
I
o
-

Correct Answer :-

95) Arealying between the curves y2 = 4x and y= 2xis: /

aﬁ}ﬁ:d}x?ﬁ;}r:zx?mﬂ'wm %I

| =

N
3|

w
|

b | =

Correct Answer :-



Find the principal value of cos ™1 % /

_141 aF
COS 15 +T &I ATF AT H|

N =
| o W S

o 5

@l H

Correct Answer :-

97) Ifaisanon-zero vector of magnitude a, and « is a non-zero scalar,

then aa is a unit vector if: /[
a1g &, a IRATT arel U IR-qeT FEA b, R o« Tw IR-
A G 8, d9 ad UF SHS ARG ¢, IR



If a=1+2jand a = 2i + j ; then which of the following option
is correct? /

afg a=i+2j3R a=12i+j §; a9 FAAEd § F Fia-
T Tashea @er &7

1. None of these /sqfrﬁﬁ's‘qﬁ

d and b are parallel | d 3R b GHIR &

2.

la| = ||
3.
L i=3

99 1
) A and B are two independent events. The probability that both A and B occurs is E and

probability that neither of them occurs is 5 The probability of occurrence of A is: [
A 3R B e TadT TeE §1 A AR B Qe aRa g H1 siwar - & 3k w9
% oy afed A g, SER AT - &1 GeA A & ufed g T A &

N
[

4, 2

Correct Answer :-



100)

_ |secx—1 1Ty
iff(x)= —secx_l_l:thenf(z)

o e

1.0
2.2

3.1
4. V2

Correct Answer :-



